

ON CONVERGENCE OF BASIC HYPERGEOMETRIC SERIES

TOSHIO OSHIMA

ABSTRACT. We examine the convergence of q -hypergeometric series when $|q| = 1$. We give a condition so that the radius of the convergence is positive and get the radius. We also show that the numbers q with the positive radius of the convergence are densely distributed in the unit circle of the complex plane of q and so are those with the radius 0.

1. INTRODUCTION

Basic hypergeometric series (cf. [GR]) with the base q is defined by

$${}_r\phi_s \left[\begin{matrix} a_1, a_2, \dots, a_r \\ b_1, \dots, b_s \end{matrix}; q, z \right] = \sum_{n=0}^{\infty} \frac{(a_1; q)_n (a_2; q)_n \cdots (a_r; q)_n}{(q; q)_n (b_1; q)_n \cdots (b_s; q)_n} \left((-1)^n q^{\frac{n(n-1)}{2}} \right)^{s+1-r} z^n,$$

where

$$(a; q)_n = \prod_{j=1}^n (1 - aq^{j-1})$$

is the q -Pochhammer symbol. Here $a_1, \dots, a_r, b_1, \dots, b_s$ and q are complex parameters. In this paper we always assume

$$(1) \quad a_i q^n \neq 1 \quad \text{and} \quad b_j q^n \neq 1 \quad (i = 1, \dots, r, j = 1, \dots, s, n = 0, 1, 2, \dots)$$

so that the factors $(a_i; q)_n$ and $(b_j; q)_n$ in the terms of the series are never zero.

Let v_n be the terms of the series ${}_r\phi_s$ which contain z^n . Then we have

$$\begin{aligned} \frac{v_{n+1}}{v_n} &= \frac{(1 - a_1 q^n)(1 - a_2 q^n) \cdots (1 - a_r q^n)}{(1 - q^{n+1})(1 - b_1 q^n) \cdots (1 - b_s q^n)} (-q^n)^{1+s-r} z \\ &= \frac{(a_1 - q^{-n})(a_2 - q^{-n}) \cdots (a_r - q^{-n})}{(1 - q^{-n-1})(b_1 - q^{-n}) \cdots (b_s - q^{-n})} \frac{z}{q}. \end{aligned}$$

If $0 < |q| < 1$, the radius of convergence of the series ${}_r\phi_s$ equals ∞ if $r \leq s$ and equals 1 if $r = s + 1$. If $|q| > 1$ and

$$(2) \quad a_1 \cdots a_r b_1 \cdots b_s \neq 0,$$

the radius of convergence of the series equals

$$(3) \quad \frac{|b_1 b_2 \cdots b_s q|}{|a_1 a_2 \cdots a_r|}.$$

In this paper we discuss the convergence of the series when $|q| = 1$. The convergence of ${}_2\phi_1$ is assumed in [OS] but it is a subtle problem depending on the base

$$(4) \quad q = e^{2\pi i\theta}.$$

Key words and phrases. Basic hypergeometric series, Diophantine approximation, Distribution modulo one.

2010 Mathematics Subject Classification. Primary 33D15; Secondary 40A05, 11J71.

Supported by Grant-in-Aid for Scientific Researches (B), No. 25287017, Japan Society of Promotion of Science.

We assume that θ is not a rational number, namely, $\theta \in \mathbb{R} \setminus \mathbb{Q}$ so that $(q; q)_n$ never vanish and we have the following theorem.

Theorem 1. *Retain the notation above and assume the conditions (1) and (2).*

i) *Assume that there exists a positive number C such that*

$$\left| \theta - \frac{k}{m} \right| > \frac{C}{m^2} \quad (\forall k \in \mathbb{Z}, m = 1, 2, 3, \dots).$$

Then we have

$$(5) \quad \lim_{n \rightarrow \infty} \sqrt[n]{|(e^{2\pi i \theta}; e^{2\pi i \theta})_n|} = 1.$$

Suppose moreover that every parameter a_i or b_j has an absolute value different from 1 or equals $e^{2\pi i \alpha} q^\beta$ with suitable rational numbers α and β which may depend on a_i and b_j . Then the radius of convergence of the series ${}_r\phi_s$ equals

$$(6) \quad \frac{\max\{|b_1|, 1\} \cdots \max\{|b_s|, 1\}}{\max\{|a_1|, 1\} \cdots \max\{|a_r|, 1\}}.$$

ii) *In general, we have*

$$(7) \quad \overline{\lim}_{n \rightarrow \infty} \sqrt[n]{|(e^{2\pi i \theta}; e^{2\pi i \theta})_n|} \leq 1 \quad (\forall \theta \in \mathbb{R} \setminus \mathbb{Q}).$$

The set of irrational real numbers θ satisfying

$$(8) \quad \underline{\lim}_{n \rightarrow \infty} \sqrt[n]{|(e^{2\pi i \theta}; e^{2\pi i \theta})_n|} = 0$$

is dense in \mathbb{R} and uncountable. If θ satisfies (8) and the absolute value of any parameter a_i or b_j is not 1, the radius of convergence of the series ${}_r\phi_s$ equals 0.

Note that it is known that an irrational number θ satisfies the assumption in Theorem 1 i) if and only if the positive integers appearing in its expansion of continued fraction are bounded and hence the set of real numbers θ satisfying it is uncountable and dense in \mathbb{R} .

Suppose $\theta \in \mathbb{R} \setminus \mathbb{Q}$ satisfies the assumption in Theorem 1 i). Then

$$(9) \quad \left| \frac{k_1}{m_1} \theta - \frac{k_2}{m_2} - \frac{k}{m} \right| = \left| \frac{k_1}{m_1} \right| \cdot \left| \theta - \frac{m_1(k_2 m + k m_2)}{k_1 m_2 m} \right| > \frac{C}{k_1 m_1 m_2^2 \cdot m^2}$$

for integers k, k_1, k_2, m, m_1, m_2 with $k_1 m m_1 m_2 \neq 0$ and therefore the number $r_1 \theta + r_2$ with $r_1 \in \mathbb{Q} \setminus \{0\}$ and $r_2 \in \mathbb{Q}$ also satisfies the assumption.

Example 2. The estimate

$$(10) \quad \left| \sqrt{2} - \frac{k}{m} \right| > \frac{1}{3m^2} \quad (\forall k \in \mathbb{Z}, m = 1, 2, 3, \dots)$$

shows that the real number $\theta = \sqrt{2} + r$ with $r \in \mathbb{Q}$ satisfies the assumption in Theorem 1 i).

We will prove (10). We assume the existence of integers k and m satisfying $m \geq 1$ and $|\sqrt{2} - \frac{k}{m}| \leq \frac{1}{3m^2}$. Then we may moreover assume $m \geq 2$ and therefore

$$\begin{aligned} 1 &\leq |2m^2 - k^2| = |(\sqrt{2}m - k)(\sqrt{2}m + k)| \\ &= \left| m^2 \left(\sqrt{2} - \frac{k}{m} \right) \right| \cdot \left| 2\sqrt{2} - \left(\sqrt{2} - \frac{k}{m} \right) \right| \\ &\leq \frac{1}{3} \left(2\sqrt{2} + \frac{1}{3m^2} \right) \leq \frac{2\sqrt{2}}{3} + \frac{1}{9 \cdot 4} = 0.9705 \cdots < 1, \end{aligned}$$

which leads a contradiction.

We will show Theorem 1 i) in §4 and Theorem 1 ii) in §5.

2. PRELIMINARY RESULTS

First we review the following theorem which claims that $k\theta \pmod{\mathbb{Z}}$ for $k = 1, 2, \dots$ are uniformly distributed on \mathbb{R}/\mathbb{Z} .

Theorem 3 (Bohl, Sierpiński and Weil). *Let $f(x)$ be a periodic function on \mathbb{R} with period 1. If $f(x)$ is integrable in the sense of Riemann, then*

$$(11) \quad \lim_{n \rightarrow \infty} \frac{1}{n} \sum_{k=1}^n f(k\theta) = \int_0^1 f(x) dx \quad (\forall \theta \in \mathbb{R} \setminus \mathbb{Q}).$$

This theorem is proved by approximating $f(x)$ by a finite Fourier series (cf. [AA]) since the theorem is directly proved if $f(x)$ is a finite Fourier series with the fact

$$\sum_{k=1}^n \frac{e^{2\pi i m k \theta}}{n} = \frac{e^{2\pi i m \theta}}{n} \left(\frac{1 - e^{2\pi i m n \theta}}{1 - e^{2\pi i m \theta}} \right) \xrightarrow{n \rightarrow \infty} 0 \quad (m \neq 0).$$

We also prepare the following integral formula.

$$(12) \quad \int_0^1 \log |1 - r e^{2\pi i x}| dx = \begin{cases} 0 & (0 \leq r \leq 1), \\ \log r & (r \geq 1). \end{cases}$$

The series $-\frac{\log(1-z)}{z} = 1 + \frac{z}{2} + \frac{z^2}{3} + \dots$ converges when $|z| < 1$ and therefore

$$0 = \int_{|z|=r} \frac{\log(1-z)}{z} dz = 2\pi i \int_0^1 \log(1 - r e^{2\pi i x}) dx \quad (0 \leq r < 1, z = 2\pi i x).$$

by Cauchy's integral formula. Since

$$\operatorname{Re} \int_0^1 \log(1 - r e^{2\pi i x}) dx = \int_0^1 \operatorname{Re} \log(1 - r e^{2\pi i x}) dx = \int_0^1 \log |1 - r e^{2\pi i x}| dx,$$

we have (12) when $0 \leq r < 1$. Moreover the relation

$$\log |1 - r e^{2\pi i x}| = \log r + \log |r^{-1} - e^{2\pi i x}| = \log r + \log |1 - r^{-1} e^{2\pi i x}|$$

assures (12) when $r > 1$.

Note that the expansion $e^\sigma - 1 = \sigma(1 + \frac{\sigma}{2!} + \frac{\sigma^2}{3!} + \dots)$ assures $|1 - e^\sigma| \geq \frac{|\sigma|}{2}$ when $|\sigma| < 1$. Hence if $r = 1$, the improper integration in (12) converges because

$$(13) \quad |\log |1 - e^{2\pi i z}|| > |\log |\pi z|| \quad \text{for } 0 < |2\pi z| < 1$$

and we obtain (12) by taking the limit $r \rightarrow 1 - 0$ (cf. [Ah, 5.3.5]).

3. A LEMMA

We prepare a lemma to prove Theorem 1 i).

Lemma 4. *Let $f(x)$ be a periodic function on \mathbb{R} with period 1. Suppose that $f(x)$ is continuous on $[0, 1]$ except for finite points $c_1, \dots, c_p \in [0, 1)$. Suppose there exist $r_j \in \mathbb{Q}$ for $j = 1, \dots, p$ such that*

$$(14) \quad c_j - r_j \theta \in \mathbb{Q} \quad \text{and} \quad (r_j + k)\theta - c_j \notin \mathbb{Z} \quad \text{for } k = 1, 2, \dots$$

Suppose moreover that there exist a positive number ϵ and a continuous function $h(t)$ on $(0, 1]$ such that

$$(15) \quad |f(x)| < h(|x - c_j|) \quad \text{for } 0 < |x - c_j| < \epsilon, \\ \int_0^1 h(t) dt < \infty \quad \text{and} \quad h(t_1) \geq h(t_2) \geq 0 \quad \text{if } 0 < t_1 < t_2 \leq 1.$$

If $\theta \in \mathbb{R} \setminus \mathbb{Q}$ satisfies the assumption in Theorem 1 i), then (11) is valid. Here we note that the condition (15) assures that the improper integral in (11) converges.

Proof. Put

$$J(j, n, \epsilon) = \{k \mid 1 \leq k \leq n, \min_{m \in \mathbb{Z}} \{|k\theta - c_j - m|\} < \epsilon\}$$

and

$$I_\epsilon = \{x \in [0, 1] \mid \min_{m \in \mathbb{Z}} |x - c_j - m| \geq \epsilon \text{ for } j = 1, \dots, p\}.$$

Then Theorem 3 shows that

$$\lim_{n \rightarrow \infty} \frac{1}{n} \sum_{\substack{k \notin J(1, n, \epsilon) \cup \dots \cup J(p, n, \epsilon) \\ 1 \leq k \leq n}} f(k\theta) = \int_{I_\epsilon} f(x) dx$$

and therefore we have only to show

$$(16) \quad \lim_{\epsilon \rightarrow +0} \lim_{n \rightarrow \infty} \frac{1}{n} \sum_{k \in J(j, n, \epsilon)} |f(k\theta)| = 0$$

to get this lemma.

Fix j . Since Theorem 3 shows that

$$\lim_{n \rightarrow \infty} \frac{1}{n} \#J(j, n, \epsilon) = 2\epsilon,$$

there exists a positive integer N_ϵ such that

$$\#J(j, n, \epsilon) \leq 3\epsilon n \quad (\forall n \geq N_\epsilon).$$

Put

$$J(j, \epsilon, n) = \{k_1, k_2, \dots, k_L\}$$

with $L = \#J(j, \epsilon, n)$ so that

$$\min_{m \in \mathbb{Z}} |k_\nu \theta - c_j - m| \leq \min_{m \in \mathbb{Z}} |k_{\nu'} \theta - c_j - m| \quad \text{if } 1 \leq \nu < \nu' \leq L.$$

Note that $c_j = \frac{k_1}{m_1} \theta + \frac{k_2}{m_2}$ with integers k_1, k_2, m_1, m_2 . In view of (9), we have

$$\left| k\theta - \frac{k_1}{m_1} \theta - \frac{k_2}{m_2} - m \right| = \left| \frac{m_1 k - k_1}{m_1} \theta - \frac{k_2 + m m_2}{m_2} \right| > \frac{C}{m_1 m_2^2 |mk - k_1|}$$

for $k = 1, 2, 3, \dots$ satisfying $mk \neq k_1$. If $\frac{k_1}{m_1}$ is a positive integer, the assumption implies $\frac{k_2}{m_2} \notin \mathbb{Z}$. Hence replacing C by a small positive number if necessary, we may assume

$$\min_{m \in \mathbb{Z}} |k\theta - c_j - m| > \frac{C}{k} \quad (k = 1, 2, \dots, j = 0, 1, \dots, p),$$

where we put $c_0 = 0$. In particular, we have

$$\min_{m \in \mathbb{Z}} |k\theta - k'\theta - m| > \frac{C}{k' - k} \geq \frac{C}{n} \quad (0 \leq k < k' \leq n).$$

Thus we have

$$\min_{m \in \mathbb{Z}} |k_\nu \theta - c_j - m| > \frac{C\nu}{2n} \quad (1 \leq \nu \leq L)$$

and

$$|f(k_\nu \theta)| < h\left(\frac{C\nu}{2n}\right) \quad (1 \leq \nu \leq L < 3\epsilon n).$$

Hence if $n \geq N_\epsilon$, we have

$$\begin{aligned} \frac{1}{n} \sum_{k \in J(j, n, \epsilon)} |f(k\theta)| &= \frac{1}{n} \sum_{\nu=1}^L |f(k_\nu \theta)| \leq \frac{1}{n} \sum_{\nu=1}^{\lfloor 3\epsilon n \rfloor} h\left(\frac{C\nu}{2n}\right) \\ &\leq \int_0^{\frac{\lfloor 3\epsilon n \rfloor}{n}} h\left(\frac{Cx}{2}\right) dx \leq \frac{2}{C} \int_0^{\frac{6\epsilon}{C}} h(t) dt, \end{aligned}$$

which implies (16). Here $[3\epsilon n]$ denotes the largest integer satisfying $[3\epsilon n] \leq 3\epsilon n$. \square

Problem 5. *Let $f(x)$ be a function satisfying the assumption in Lemma 4. Is the equality (11) for $\theta \in \mathbb{R}$ valid almost everywhere in the sense of Lebesgue measure? Here we may assume $p = 1$, $c_1 = 0$ and $h(t) = |\log t|$ for our problem. Is it also valid without assuming the condition (14)?*

4. ESTIMATE I

Let $a = re^{2\pi i\tau}$ and $q = e^{2\pi i\theta}$ with $\tau, \theta \in \mathbb{R}$ and $r > 0$. Then

$$(17) \quad \sqrt[n]{|(a; q)_n|} = \exp\left(\frac{1}{n} \sum_{k=0}^{n-1} \log|1 - re^{2\pi i(k\theta + \tau)}|\right).$$

If $r \neq 1$, Theorem 3 and (12) imply

$$(18) \quad \lim_{n \rightarrow \infty} \sqrt[n]{|(a; q)_n|} = \max\{|a|, 1\} \quad (|a| \neq 1, q = e^{2\pi i\theta} \text{ with } \theta \in \mathbb{R} \setminus \mathbb{Q}).$$

Assume $r = 1$. Since

$$\sum_{\substack{\min_{m \in \mathbb{Z}}\{|k\theta - m|\} < \epsilon \\ 1 \leq k \leq n}} \log|1 - e^{2\pi ik\theta}| \leq 0$$

and

$$\lim_{n \rightarrow \infty} \frac{1}{n} \sum_{\substack{\min_{m \in \mathbb{Z}}\{|k\theta - m|\} \geq \epsilon \\ 1 \leq k \leq n}} \log|1 - e^{2\pi ik\theta}| = \int_{\epsilon}^{1-\epsilon} \log|1 - e^{2\pi ix}| dx$$

for any small positive number ϵ , we have (7) in view of (12) and (17).

Now assume moreover that θ satisfies the assumption in Theorem 1 i). Then Lemma 4 with $f(x) = \log|1 - e^{2\pi ix}|$ and $h(t) = |\log \pi t|$ (cf. (13)) proves (5).

Suppose $\tau = \frac{k_1}{m_1}\theta + \frac{k_2}{m_2}$ with integers k_1, k_2, m_1, m_2 with $m_1 > 0$, $m_2 > 0$ and

$$\left(\frac{k_1}{m_1} + k - 1\right)\theta + \frac{k_2}{m_2} \notin \mathbb{Z} \quad (k = 1, 2, 3, \dots)$$

corresponding to (1), (2) and (14). Lemma 4 with $f(x) = \log|1 - e^{2\pi i(x + (\frac{k_1}{m_1} - 1)\theta)}|$, $h(t) = |\log \pi t|$ and $c_j = -(\frac{k_1}{m_1} - 1)\theta - \frac{k_2}{m_2}$ implies

$$(19) \quad \lim_{n \rightarrow \infty} \sqrt[n]{|(e^{2\pi i\tau}; e^{2\pi i\theta})_n|} = 1.$$

Thus we have Theorem 1 i) by the estimates (18), (5) and (19).

5. ESTIMATE II

Define a series of rapidly increasing positive integers $\{a_n\}$ by

$$(20) \quad a_1 = 2, \quad a_{n+1} = k_{n+1} \cdot a_n \cdot a_n! \quad (k_{n+1} = 2 \text{ or } 3, n = 1, 2, 3, \dots)$$

and put $\theta = \sum_{n=1}^{\infty} \frac{1}{a_n}$ and $q = e^{2\pi i\theta}$. Then $\theta \notin \mathbb{Q}$ and we have

$$(21) \quad \min_{m \in \mathbb{Z}} |a_n \cdot \theta - m| < \sum_{k=n+1}^{\infty} \frac{a_n}{a_k} < \frac{1}{a_n!},$$

$$|1 - e^{2\pi ia_n\theta}| \leq \frac{2\pi}{a_n!}, \quad \prod_{j=1}^{a_n} |1 - q^j| \leq \frac{2^{a_n} \pi}{a_n!}, \quad \lim_{n \rightarrow \infty} a_n \sqrt{\prod_{j=1}^{a_n} |1 - q^j|} = 0$$

and (8) in Theorem 1 ii). We may choose $k_n \in \{2, 3\}$ for $n = 1, 2, \dots$, we get uncountably many θ 's. Moreover if we put $\theta = \sum_{n=1}^{\infty} \frac{1}{a_n} + r$ so that there exists a positive integer N satisfying $rN \in \mathbb{Z}$, then θ also satisfies (21) for $n \geq N$ and hence θ satisfies (8).

The remaining claim in Theorem 1 ii) is clear from (18).

REFERENCES

- [Ah] L. V. Ahlfors, Complex Analysis, Third Edition, McGraw-Hill, 1979.
- [AA] V. I. Arnold and A. Avez, Problèmes Ergodiques de la Mécanique Classique, Gauthier-Villars, 1967.
- [GR] G. Gasper and M. Rahman, Basic Hypergeometric Series, Second Edition, Encyclopedia of Mathematics and its Applications 96, Cambridge University Press, 2004.
- [OS] S. Odake and R. Sasaki, Reflectionless potentials for difference Schrödinger equations, J. Phys. A: Math. Theor. **48**(2015) 115204 (21pp).

FACULTY OF SCIENCE, JOSAI UNIVERSITY, 1-1 KEYAKIDAI, SAKADO, SAITAMA 350-0295, JAPAN
E-mail address: `t-oshima@josai.ac.jp`